8, 12, 11, 5

Find the mean for the above numbers.

8+12+ 11 +5 =36

36 4 =09 9
1, 3, 10, 6, 5
Find the mean for the above numbers.
1+3+10+6+5=25
5

25 +5=5

The bar chart shows the number of cars sold by a car dealer during the

week.
A

10

8
Number ©6 o
Sold — —
4 I |
2 I I I I |

0

Mon Tues Wed Thurs Fri
Day

What is the mean number of cars sold each day?

Show
Your
method

4+6+10+3+7 =30

30 +5=6

6

cars

1 mark

1 mark

2 marks


Joe
Typewriter
8 + 12 + 11 + 5 = 36

Joe
Typewriter
36 ÷ 4 = 9

Joe
Typewriter
9

Joe
Typewriter
1 + 3 + 10 + 6 + 5 = 25

Joe
Typewriter
25 ÷ 5 = 5

Joe
Typewriter
5

Joe
Typewriter
4 + 6 + 10 + 3 + 7 = 30

Joe
Typewriter
30 ÷ 5 = 6

Joe
Typewriter
6


= 4, 8, 5, 2

Find the mean for the above numbers.

4+8+5+2=19

19 -4 =475 4,75
1 mark
& 11, 1.2, 1.2, 14, 16, 1.9
Find the mean for the above numbers.
1.1+12+12+14+16+19 =84
84+7=12 1.2 p—

n This graph shows the amount of rainfall in cm for 5 days.

A
10
X 8.4
8
X
Rainfall ¢ 6.8
(cm)
4.3
4 X
2 Xi8
0.2
0 X
Mon Tue Wed Thu Fri
Day

What was the mean amount of rainfall, to one decimal place?

18+43+02+68+84=215

Show 215+5=43

Your
method

4.3 cm

2 marks



Joe
Typewriter
4 + 8 + 5 + 2 = 19

Joe
Typewriter
19 ÷ 4 = 4.75

Joe
Typewriter
4.75

Joe
Typewriter
1.1 + 1.2 + 1.2 + 1.4 + 1.6 + 1.9 = 8.4

Joe
Typewriter
8.4 ÷ 7 = 1.2

Joe
Typewriter
1.2

Joe
Typewriter
1.8 + 4.3 + 0.2 + 6.8 + 8.4 = 21.5

Joe
Typewriter
21.5 ÷ 5 = 4.3

Joe
Typewriter
4.3
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